
n∑
r=0

r ·n Cr arbn−r = na(a+ b)n−1

n∑
r=0

r ·n Cr arbn−r = na(a+ b)n−1

Min Eun Gi : https://min7014.github.io

https://min7014.github.io


n∑
r=0

r ·n Cr arbn−r = na(a+ b)n−1

Start End

(at + b)n =

n∑
r=0

nCrarbn−r tr

n(at + b)n−1a =
n∑

r=1
r ·n Crarbn−r tr−1

n(at + b)n−1at =
n∑

r=1
r ·n Cr · arbn−r tr =

n∑
r=0

r ·n Cr · arbn−r tr

n(a+ b)n−1a =

n∑
r=0

r ·n Cr · arbn−r

∴
n∑

r=0
r ·n Cr arbn−r = na(a+ b)n−1

Min Eun Gi : https://min7014.github.io

https://min7014.github.io


n∑
r=0

r ·n Cr arbn−r = na(a+ b)n−1

Start End

(at + b)n =

n∑
r=0

nCrarbn−r tr

n(at + b)n−1a =
n∑

r=1
r ·n Crarbn−r tr−1

n(at + b)n−1at =
n∑

r=1
r ·n Cr · arbn−r tr =

n∑
r=0

r ·n Cr · arbn−r tr

n(a+ b)n−1a =

n∑
r=0

r ·n Cr · arbn−r

∴
n∑

r=0
r ·n Cr arbn−r = na(a+ b)n−1

Min Eun Gi : https://min7014.github.io

https://min7014.github.io


n∑
r=0

r ·n Cr arbn−r = na(a+ b)n−1

Start End

(at + b)n =

n∑
r=0

nCrarbn−r tr

n(at + b)n−1a =
n∑

r=1
r ·n Crarbn−r tr−1

n(at + b)n−1at =
n∑

r=1
r ·n Cr · arbn−r tr =

n∑
r=0

r ·n Cr · arbn−r tr

n(a+ b)n−1a =

n∑
r=0

r ·n Cr · arbn−r

∴
n∑

r=0
r ·n Cr arbn−r = na(a+ b)n−1

Min Eun Gi : https://min7014.github.io

https://min7014.github.io


n∑
r=0

r ·n Cr arbn−r = na(a+ b)n−1

Start End

(at + b)n =

n∑
r=0

nCr

arbn−r tr

n(at + b)n−1a =
n∑

r=1
r ·n Crarbn−r tr−1

n(at + b)n−1at =
n∑

r=1
r ·n Cr · arbn−r tr =

n∑
r=0

r ·n Cr · arbn−r tr

n(a+ b)n−1a =

n∑
r=0

r ·n Cr · arbn−r

∴
n∑

r=0
r ·n Cr arbn−r = na(a+ b)n−1

Min Eun Gi : https://min7014.github.io

https://min7014.github.io


n∑
r=0

r ·n Cr arbn−r = na(a+ b)n−1

Start End

(at + b)n =

n∑
r=0

nCrar

bn−r tr

n(at + b)n−1a =
n∑

r=1
r ·n Crarbn−r tr−1

n(at + b)n−1at =
n∑

r=1
r ·n Cr · arbn−r tr =

n∑
r=0

r ·n Cr · arbn−r tr

n(a+ b)n−1a =

n∑
r=0

r ·n Cr · arbn−r

∴
n∑

r=0
r ·n Cr arbn−r = na(a+ b)n−1

Min Eun Gi : https://min7014.github.io

https://min7014.github.io


n∑
r=0

r ·n Cr arbn−r = na(a+ b)n−1

Start End

(at + b)n =

n∑
r=0

nCrarbn−r

tr

n(at + b)n−1a =
n∑

r=1
r ·n Crarbn−r tr−1

n(at + b)n−1at =
n∑

r=1
r ·n Cr · arbn−r tr =

n∑
r=0

r ·n Cr · arbn−r tr

n(a+ b)n−1a =

n∑
r=0

r ·n Cr · arbn−r

∴
n∑

r=0
r ·n Cr arbn−r = na(a+ b)n−1

Min Eun Gi : https://min7014.github.io

https://min7014.github.io


n∑
r=0

r ·n Cr arbn−r = na(a+ b)n−1

Start End

(at + b)n =

n∑
r=0

nCrarbn−r tr

n(at + b)n−1a =
n∑

r=1
r ·n Crarbn−r tr−1

n(at + b)n−1at =
n∑

r=1
r ·n Cr · arbn−r tr =

n∑
r=0

r ·n Cr · arbn−r tr

n(a+ b)n−1a =

n∑
r=0

r ·n Cr · arbn−r

∴
n∑

r=0
r ·n Cr arbn−r = na(a+ b)n−1

Min Eun Gi : https://min7014.github.io

https://min7014.github.io


n∑
r=0

r ·n Cr arbn−r = na(a+ b)n−1

Start End

(at + b)n =

n∑
r=0

nCrarbn−r tr

n

(at + b)n−1a =
n∑

r=1
r ·n Crarbn−r tr−1

n(at + b)n−1at =
n∑

r=1
r ·n Cr · arbn−r tr =

n∑
r=0

r ·n Cr · arbn−r tr

n(a+ b)n−1a =

n∑
r=0

r ·n Cr · arbn−r

∴
n∑

r=0
r ·n Cr arbn−r = na(a+ b)n−1

Min Eun Gi : https://min7014.github.io

https://min7014.github.io


n∑
r=0

r ·n Cr arbn−r = na(a+ b)n−1

Start End

(at + b)n =

n∑
r=0

nCrarbn−r tr

n(at + b)

n−1a =
n∑

r=1
r ·n Crarbn−r tr−1

n(at + b)n−1at =
n∑

r=1
r ·n Cr · arbn−r tr =

n∑
r=0

r ·n Cr · arbn−r tr

n(a+ b)n−1a =

n∑
r=0

r ·n Cr · arbn−r

∴
n∑

r=0
r ·n Cr arbn−r = na(a+ b)n−1

Min Eun Gi : https://min7014.github.io

https://min7014.github.io


n∑
r=0

r ·n Cr arbn−r = na(a+ b)n−1

Start End

(at + b)n =

n∑
r=0

nCrarbn−r tr

n(at + b)n−1

a =
n∑

r=1
r ·n Crarbn−r tr−1

n(at + b)n−1at =
n∑

r=1
r ·n Cr · arbn−r tr =

n∑
r=0

r ·n Cr · arbn−r tr

n(a+ b)n−1a =

n∑
r=0

r ·n Cr · arbn−r

∴
n∑

r=0
r ·n Cr arbn−r = na(a+ b)n−1

Min Eun Gi : https://min7014.github.io

https://min7014.github.io


n∑
r=0

r ·n Cr arbn−r = na(a+ b)n−1

Start End

(at + b)n =

n∑
r=0

nCrarbn−r tr

n(at + b)n−1a

=
n∑

r=1
r ·n Crarbn−r tr−1

n(at + b)n−1at =
n∑

r=1
r ·n Cr · arbn−r tr =

n∑
r=0

r ·n Cr · arbn−r tr

n(a+ b)n−1a =

n∑
r=0

r ·n Cr · arbn−r

∴
n∑

r=0
r ·n Cr arbn−r = na(a+ b)n−1

Min Eun Gi : https://min7014.github.io

https://min7014.github.io


n∑
r=0

r ·n Cr arbn−r = na(a+ b)n−1

Start End

(at + b)n =

n∑
r=0

nCrarbn−r tr

n(at + b)n−1a =

n∑
r=1

r ·n Crarbn−r tr−1

n(at + b)n−1at =
n∑

r=1
r ·n Cr · arbn−r tr =

n∑
r=0

r ·n Cr · arbn−r tr

n(a+ b)n−1a =

n∑
r=0

r ·n Cr · arbn−r

∴
n∑

r=0
r ·n Cr arbn−r = na(a+ b)n−1

Min Eun Gi : https://min7014.github.io

https://min7014.github.io


n∑
r=0

r ·n Cr arbn−r = na(a+ b)n−1

Start End

(at + b)n =

n∑
r=0

nCrarbn−r tr

n(at + b)n−1a =

n∑
r=1

r

·n Crarbn−r tr−1

n(at + b)n−1at =
n∑

r=1
r ·n Cr · arbn−r tr =

n∑
r=0

r ·n Cr · arbn−r tr

n(a+ b)n−1a =

n∑
r=0

r ·n Cr · arbn−r

∴
n∑

r=0
r ·n Cr arbn−r = na(a+ b)n−1

Min Eun Gi : https://min7014.github.io

https://min7014.github.io


n∑
r=0

r ·n Cr arbn−r = na(a+ b)n−1

Start End

(at + b)n =

n∑
r=0

nCrarbn−r tr

n(at + b)n−1a =

n∑
r=1

r ·n Cr

arbn−r tr−1

n(at + b)n−1at =
n∑

r=1
r ·n Cr · arbn−r tr =

n∑
r=0

r ·n Cr · arbn−r tr

n(a+ b)n−1a =

n∑
r=0

r ·n Cr · arbn−r

∴
n∑

r=0
r ·n Cr arbn−r = na(a+ b)n−1

Min Eun Gi : https://min7014.github.io

https://min7014.github.io


n∑
r=0

r ·n Cr arbn−r = na(a+ b)n−1

Start End

(at + b)n =

n∑
r=0

nCrarbn−r tr

n(at + b)n−1a =

n∑
r=1

r ·n Crar

bn−r tr−1

n(at + b)n−1at =
n∑

r=1
r ·n Cr · arbn−r tr =

n∑
r=0

r ·n Cr · arbn−r tr

n(a+ b)n−1a =

n∑
r=0

r ·n Cr · arbn−r

∴
n∑

r=0
r ·n Cr arbn−r = na(a+ b)n−1

Min Eun Gi : https://min7014.github.io

https://min7014.github.io


n∑
r=0

r ·n Cr arbn−r = na(a+ b)n−1

Start End

(at + b)n =

n∑
r=0

nCrarbn−r tr

n(at + b)n−1a =

n∑
r=1

r ·n Crarbn−r

tr−1

n(at + b)n−1at =
n∑

r=1
r ·n Cr · arbn−r tr =

n∑
r=0

r ·n Cr · arbn−r tr

n(a+ b)n−1a =

n∑
r=0

r ·n Cr · arbn−r

∴
n∑

r=0
r ·n Cr arbn−r = na(a+ b)n−1

Min Eun Gi : https://min7014.github.io

https://min7014.github.io


n∑
r=0

r ·n Cr arbn−r = na(a+ b)n−1

Start End

(at + b)n =

n∑
r=0

nCrarbn−r tr

n(at + b)n−1a =

n∑
r=1

r ·n Crarbn−r tr−1

n(at + b)n−1at =
n∑

r=1
r ·n Cr · arbn−r tr =

n∑
r=0

r ·n Cr · arbn−r tr

n(a+ b)n−1a =

n∑
r=0

r ·n Cr · arbn−r

∴
n∑

r=0
r ·n Cr arbn−r = na(a+ b)n−1

Min Eun Gi : https://min7014.github.io

https://min7014.github.io


n∑
r=0

r ·n Cr arbn−r = na(a+ b)n−1

Start End

(at + b)n =

n∑
r=0

nCrarbn−r tr

n(at + b)n−1a =

n∑
r=1

r ·n Crarbn−r tr−1

n(at + b)n−1a

t =
n∑

r=1
r ·n Cr · arbn−r tr =

n∑
r=0

r ·n Cr · arbn−r tr

n(a+ b)n−1a =

n∑
r=0

r ·n Cr · arbn−r

∴
n∑

r=0
r ·n Cr arbn−r = na(a+ b)n−1

Min Eun Gi : https://min7014.github.io

https://min7014.github.io


n∑
r=0

r ·n Cr arbn−r = na(a+ b)n−1

Start End

(at + b)n =

n∑
r=0

nCrarbn−r tr

n(at + b)n−1a =

n∑
r=1

r ·n Crarbn−r tr−1

n(at + b)n−1at

=
n∑

r=1
r ·n Cr · arbn−r tr =

n∑
r=0

r ·n Cr · arbn−r tr

n(a+ b)n−1a =

n∑
r=0

r ·n Cr · arbn−r

∴
n∑

r=0
r ·n Cr arbn−r = na(a+ b)n−1

Min Eun Gi : https://min7014.github.io

https://min7014.github.io


n∑
r=0

r ·n Cr arbn−r = na(a+ b)n−1

Start End

(at + b)n =

n∑
r=0

nCrarbn−r tr

n(at + b)n−1a =

n∑
r=1

r ·n Crarbn−r tr−1

n(at + b)n−1at =

n∑
r=1

r ·n Cr · arbn−r

tr =
n∑

r=0
r ·n Cr · arbn−r tr

n(a+ b)n−1a =

n∑
r=0

r ·n Cr · arbn−r

∴
n∑

r=0
r ·n Cr arbn−r = na(a+ b)n−1

Min Eun Gi : https://min7014.github.io

https://min7014.github.io


n∑
r=0

r ·n Cr arbn−r = na(a+ b)n−1

Start End

(at + b)n =

n∑
r=0

nCrarbn−r tr

n(at + b)n−1a =

n∑
r=1

r ·n Crarbn−r tr−1

n(at + b)n−1at =

n∑
r=1

r ·n Cr · arbn−r tr

=
n∑

r=0
r ·n Cr · arbn−r tr

n(a+ b)n−1a =

n∑
r=0

r ·n Cr · arbn−r

∴
n∑

r=0
r ·n Cr arbn−r = na(a+ b)n−1

Min Eun Gi : https://min7014.github.io

https://min7014.github.io


n∑
r=0

r ·n Cr arbn−r = na(a+ b)n−1

Start End

(at + b)n =

n∑
r=0

nCrarbn−r tr

n(at + b)n−1a =

n∑
r=1

r ·n Crarbn−r tr−1

n(at + b)n−1at =

n∑
r=1

r ·n Cr · arbn−r tr =
n∑

r=0
r ·n Cr · arbn−r tr

n(a+ b)n−1a =

n∑
r=0

r ·n Cr · arbn−r

∴
n∑

r=0
r ·n Cr arbn−r = na(a+ b)n−1

Min Eun Gi : https://min7014.github.io

https://min7014.github.io


n∑
r=0

r ·n Cr arbn−r = na(a+ b)n−1

Start End

(at + b)n =

n∑
r=0

nCrarbn−r tr

n(at + b)n−1a =

n∑
r=1

r ·n Crarbn−r tr−1

n(at + b)n−1at =

n∑
r=1

r ·n Cr · arbn−r tr =
n∑

r=0

r ·n Cr · arbn−r tr

n(a+ b)n−1a =

n∑
r=0

r ·n Cr · arbn−r

∴
n∑

r=0
r ·n Cr arbn−r = na(a+ b)n−1

Min Eun Gi : https://min7014.github.io

https://min7014.github.io


n∑
r=0

r ·n Cr arbn−r = na(a+ b)n−1

Start End

(at + b)n =

n∑
r=0

nCrarbn−r tr

n(at + b)n−1a =

n∑
r=1

r ·n Crarbn−r tr−1

n(at + b)n−1at =

n∑
r=1

r ·n Cr · arbn−r tr =
n∑

r=0
r ·n Cr · arbn−r tr

n(a+ b)n−1a =

n∑
r=0

r ·n Cr · arbn−r

∴
n∑

r=0
r ·n Cr arbn−r = na(a+ b)n−1

Min Eun Gi : https://min7014.github.io

https://min7014.github.io


n∑
r=0

r ·n Cr arbn−r = na(a+ b)n−1

Start End

(at + b)n =

n∑
r=0

nCrarbn−r tr

n(at + b)n−1a =

n∑
r=1

r ·n Crarbn−r tr−1

n(at + b)n−1at =

n∑
r=1

r ·n Cr · arbn−r tr =
n∑

r=0
r ·n Cr · arbn−r tr

n

(a+ b)n−1a =

n∑
r=0

r ·n Cr · arbn−r

∴
n∑

r=0
r ·n Cr arbn−r = na(a+ b)n−1

Min Eun Gi : https://min7014.github.io

https://min7014.github.io


n∑
r=0

r ·n Cr arbn−r = na(a+ b)n−1

Start End

(at + b)n =

n∑
r=0

nCrarbn−r tr

n(at + b)n−1a =

n∑
r=1

r ·n Crarbn−r tr−1

n(at + b)n−1at =

n∑
r=1

r ·n Cr · arbn−r tr =
n∑

r=0
r ·n Cr · arbn−r tr

n(a+ b)n−1

a =

n∑
r=0

r ·n Cr · arbn−r

∴
n∑

r=0
r ·n Cr arbn−r = na(a+ b)n−1

Min Eun Gi : https://min7014.github.io

https://min7014.github.io


n∑
r=0

r ·n Cr arbn−r = na(a+ b)n−1

Start End

(at + b)n =

n∑
r=0

nCrarbn−r tr

n(at + b)n−1a =

n∑
r=1

r ·n Crarbn−r tr−1

n(at + b)n−1at =

n∑
r=1

r ·n Cr · arbn−r tr =
n∑

r=0
r ·n Cr · arbn−r tr

n(a+ b)n−1a

=

n∑
r=0

r ·n Cr · arbn−r

∴
n∑

r=0
r ·n Cr arbn−r = na(a+ b)n−1

Min Eun Gi : https://min7014.github.io

https://min7014.github.io


n∑
r=0

r ·n Cr arbn−r = na(a+ b)n−1

Start End

(at + b)n =

n∑
r=0

nCrarbn−r tr

n(at + b)n−1a =

n∑
r=1

r ·n Crarbn−r tr−1

n(at + b)n−1at =

n∑
r=1

r ·n Cr · arbn−r tr =
n∑

r=0
r ·n Cr · arbn−r tr

n(a+ b)n−1a =

n∑
r=0

r ·n Cr · arbn−r

∴
n∑

r=0
r ·n Cr arbn−r = na(a+ b)n−1

Min Eun Gi : https://min7014.github.io

https://min7014.github.io


n∑
r=0

r ·n Cr arbn−r = na(a+ b)n−1

Start End

(at + b)n =

n∑
r=0

nCrarbn−r tr

n(at + b)n−1a =

n∑
r=1

r ·n Crarbn−r tr−1

n(at + b)n−1at =

n∑
r=1

r ·n Cr · arbn−r tr =
n∑

r=0
r ·n Cr · arbn−r tr

n(a+ b)n−1a =

n∑
r=0

r ·n Cr · arbn−r

∴
n∑

r=0
r ·n Cr arbn−r = na(a+ b)n−1

Min Eun Gi : https://min7014.github.io

https://min7014.github.io


n∑
r=0

r ·n Cr arbn−r = na(a+ b)n−1

Start End

(at + b)n =

n∑
r=0

nCrarbn−r tr

n(at + b)n−1a =

n∑
r=1

r ·n Crarbn−r tr−1

n(at + b)n−1at =

n∑
r=1

r ·n Cr · arbn−r tr =
n∑

r=0
r ·n Cr · arbn−r tr

n(a+ b)n−1a =

n∑
r=0

r ·n Cr · arbn−r

∴

n∑
r=0

r ·n Cr arbn−r = na(a+ b)n−1

Min Eun Gi : https://min7014.github.io

https://min7014.github.io


n∑
r=0

r ·n Cr arbn−r = na(a+ b)n−1

Start End

(at + b)n =

n∑
r=0

nCrarbn−r tr

n(at + b)n−1a =

n∑
r=1

r ·n Crarbn−r tr−1

n(at + b)n−1at =

n∑
r=1

r ·n Cr · arbn−r tr =
n∑

r=0
r ·n Cr · arbn−r tr

n(a+ b)n−1a =

n∑
r=0

r ·n Cr · arbn−r

∴
n∑

r=0

r ·n Cr arbn−r = na(a+ b)n−1

Min Eun Gi : https://min7014.github.io

https://min7014.github.io


n∑
r=0

r ·n Cr arbn−r = na(a+ b)n−1

Start End

(at + b)n =

n∑
r=0

nCrarbn−r tr

n(at + b)n−1a =

n∑
r=1

r ·n Crarbn−r tr−1

n(at + b)n−1at =

n∑
r=1

r ·n Cr · arbn−r tr =
n∑

r=0
r ·n Cr · arbn−r tr

n(a+ b)n−1a =

n∑
r=0

r ·n Cr · arbn−r

∴
n∑

r=0
r

·n Cr arbn−r = na(a+ b)n−1

Min Eun Gi : https://min7014.github.io

https://min7014.github.io


n∑
r=0

r ·n Cr arbn−r = na(a+ b)n−1

Start End

(at + b)n =

n∑
r=0

nCrarbn−r tr

n(at + b)n−1a =

n∑
r=1

r ·n Crarbn−r tr−1

n(at + b)n−1at =

n∑
r=1

r ·n Cr · arbn−r tr =
n∑

r=0
r ·n Cr · arbn−r tr

n(a+ b)n−1a =

n∑
r=0

r ·n Cr · arbn−r

∴
n∑

r=0
r ·n Cr

arbn−r = na(a+ b)n−1

Min Eun Gi : https://min7014.github.io

https://min7014.github.io


n∑
r=0

r ·n Cr arbn−r = na(a+ b)n−1

Start End

(at + b)n =

n∑
r=0

nCrarbn−r tr

n(at + b)n−1a =

n∑
r=1

r ·n Crarbn−r tr−1

n(at + b)n−1at =

n∑
r=1

r ·n Cr · arbn−r tr =
n∑

r=0
r ·n Cr · arbn−r tr

n(a+ b)n−1a =

n∑
r=0

r ·n Cr · arbn−r

∴
n∑

r=0
r ·n Cr ar

bn−r = na(a+ b)n−1

Min Eun Gi : https://min7014.github.io

https://min7014.github.io


n∑
r=0

r ·n Cr arbn−r = na(a+ b)n−1

Start End

(at + b)n =

n∑
r=0

nCrarbn−r tr

n(at + b)n−1a =

n∑
r=1

r ·n Crarbn−r tr−1

n(at + b)n−1at =

n∑
r=1

r ·n Cr · arbn−r tr =
n∑

r=0
r ·n Cr · arbn−r tr

n(a+ b)n−1a =

n∑
r=0

r ·n Cr · arbn−r

∴
n∑

r=0
r ·n Cr arbn−r

= na(a+ b)n−1

Min Eun Gi : https://min7014.github.io

https://min7014.github.io


n∑
r=0

r ·n Cr arbn−r = na(a+ b)n−1

Start End

(at + b)n =

n∑
r=0

nCrarbn−r tr

n(at + b)n−1a =

n∑
r=1

r ·n Crarbn−r tr−1

n(at + b)n−1at =

n∑
r=1

r ·n Cr · arbn−r tr =
n∑

r=0
r ·n Cr · arbn−r tr

n(a+ b)n−1a =

n∑
r=0

r ·n Cr · arbn−r

∴
n∑

r=0
r ·n Cr arbn−r = n

a(a+ b)n−1

Min Eun Gi : https://min7014.github.io

https://min7014.github.io


n∑
r=0

r ·n Cr arbn−r = na(a+ b)n−1

Start End

(at + b)n =

n∑
r=0

nCrarbn−r tr

n(at + b)n−1a =

n∑
r=1

r ·n Crarbn−r tr−1

n(at + b)n−1at =

n∑
r=1

r ·n Cr · arbn−r tr =
n∑

r=0
r ·n Cr · arbn−r tr

n(a+ b)n−1a =

n∑
r=0

r ·n Cr · arbn−r

∴
n∑

r=0
r ·n Cr arbn−r = na

(a+ b)n−1

Min Eun Gi : https://min7014.github.io

https://min7014.github.io


n∑
r=0

r ·n Cr arbn−r = na(a+ b)n−1

Start End

(at + b)n =

n∑
r=0

nCrarbn−r tr

n(at + b)n−1a =

n∑
r=1

r ·n Crarbn−r tr−1

n(at + b)n−1at =

n∑
r=1

r ·n Cr · arbn−r tr =
n∑

r=0
r ·n Cr · arbn−r tr

n(a+ b)n−1a =

n∑
r=0

r ·n Cr · arbn−r

∴
n∑

r=0
r ·n Cr arbn−r = na(a+ b)

n−1

Min Eun Gi : https://min7014.github.io

https://min7014.github.io


n∑
r=0

r ·n Cr arbn−r = na(a+ b)n−1

Start End

(at + b)n =

n∑
r=0

nCrarbn−r tr

n(at + b)n−1a =

n∑
r=1

r ·n Crarbn−r tr−1

n(at + b)n−1at =

n∑
r=1

r ·n Cr · arbn−r tr =
n∑

r=0
r ·n Cr · arbn−r tr

n(a+ b)n−1a =

n∑
r=0

r ·n Cr · arbn−r

∴
n∑

r=0
r ·n Cr arbn−r = na(a+ b)n−1

Min Eun Gi : https://min7014.github.io

https://min7014.github.io


n∑
r=0

r ·n Cr arbn−r = na(a+ b)n−1

Github:
https://min7014.github.io/math20230616001.html

Click or paste URL into the URL search bar,
and you can see a picture moving.

Min Eun Gi : https://min7014.github.io

https://min7014.github.io/math20230616001.html
https://min7014.github.io

